Chinese one child policy









How Chinese government planned it

* 1) Slow the growth of population
e 2) Take taxes from 2 children family
* 3) Decrease waste of recources



1959-1969 Plan(NOT A POLICY)

* 1)Try to give all unemployment people work
Fail

e 2) Make the period between children birth
longer. Fail

* 3) Don’t have the 3 child . Fail

e 4)Don’t have a child if you are not young
Family. Fail



1969-1980

* 1)You can’t have 2 child if you are not living in
village

 2)If you have second Child you should spend
12 000S for his birth and 35 000 Y for the
period

 3)If you have 3 children you will pay double
taxes



1969-1980

* 1) Take taxes from families that have 2 or
more children

 2) Increase the amount of food recourses
* 3)Decrease the unemployment






Effect



1980-2013

* 1)You can’t have 2 child if you are not living in
village

* 2)If you and you husband/wife is singleton you
can make 2 child

 2)If you have second Child you should spend
12 000S for his birth and 35 000 Y for the
period

 3)If you have 3 children you will pay double
taxes



*What really happened!



Effect

* 400 000 000 embryos.

* 3150 000 000 dollars.

e 120 000 000 millions of female embryos
1970 .1. 25 billion — 1.12 billion of below 60

2012. 1.34 billion — 0.93 billion of people below
60

Millions of women lost









°|s it right









We believe in
good future



